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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wers frapTes ot PR Tee fion

(a) Mention one obstacle of economic
development of India.

SRS HfAfSF Tayea b1 A TrEY 41
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(b)

(©

(@)

(e)

(9)
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(2)

What is sustainable development?
Ty T 2

Does education contribute towards
human capital formation?

TR o oo Py sifdee aene 2

Define disguised unemployment.

TN AR stz fi |
What is the rate of urbanization in
India according to the 2011 Census?

3033 54 (EIFEE WS THAUS TP I
w2

In case of size of population, India
occupies the first position in the world.

(Write True or False)

HPRYR TIPS (Fae SRS 47 A4 ¥
4P I |
(o1 = fy foran)

What is seasonal unemployment?

Agere fade@r 2

( Continued )

)

()

()

2. Answer the following questions :

(3)

Write one cause of educated

unemployment in India.

TR S fAeeR @b I fore |

Mention one poverty alleviation measure
of the Government of India.

ORE PN WRTS! ZPFAOR AE IRl GO
T TrE 41 |

Who prepares Monetary Policy of
India?

TGS 4 NS (P 24T I ?

2x5=10

e fral eppTRa Tee fore

(@)

()
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Mention two causes of India’s low
economic growth.

oHeq g wetafes 3 o1 F1Ee Tras 40 |

Write two importances of technology as
a factor of development.

Tawera 19 f2oice oy o1 wwy foran |
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fc)

(d)

(e)

(4)

Mention two causes of urbanization
in India.

SRS FRIFAT o1 PG TCEY 397 |

Mention two types of unemployment
found in rural India.

q SRSS (R YRy R S
0|

Write two causes of low savings in
India.

SR iR A o1 IR foran |

Answer any four of the following questions :

5x4=20

wore gl 2pearad i @ wif it Tes foren

(a)

(b)

Suggest some measures for sustainable
development in India.

SAey ITTHY Tmged @ Rmum e
H9RTGA |

Explain the relationship between capital
formation and development.

oA o107 S TEEE e T [ 40

( Continued )

fc)

(@)

(e)

(§)

How is population and economic
development related? Explain.

PR 9F gAfes mm mE ride 2

RN SN

Write a note on the occupational
structure in the organized sector of
India.

SR MRS I9 e s R @b
ot foram |

Explain the nature of wurban
unemployment in India.

TEeA 53 A &S T F41 |
Explain the Centre-States financial

relation in India.

SRS (¥ WF A R wE
Ll

Answer any four of the following questions :

10x4=40

were faan opaEd R @ vifibr s fora

(a) Discuss the characteristics of Indian

22A/369

economy as a developing economy.
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(6) ey

Tmee wdAife e Ry wdAifes (i Discuss the causes of income inequality
CMBPTR S 3541 | in India.

ST AR (IFVR FRPHZ ST 341 |

(b) Discuss the causes of low rate of

capital formation in India.
* * *

S ey 54 AN 2T FRPHZ DA
Lol

() Discuss the trend of India’s population
growth in the planning period.
ARFFR PENCRAS SAST G Ifa g1 |
HCEATOT 4T |

(d) What are the causes of high rate of
population growth in India? Discuss.

SAGT GPRYT JaT T 299 FRPER 2
AT P41

(e} Discuss the schemes taken by the
Government of India to reduce
unemployment.

@ ZPRIR IM@ SRS BRI (AN

STBfAPTZ SCATD 341 |
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